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SECTION - A
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i) General Awareness

What is the name of all women protection
squad launched to assist women railway
commuters ?

(A) Joymati Bahini
(B) Nari Shakthi

(C) Mabhila Shakthi
(D) None of the above

Who was the chief guest of 70th
Republic Day celebration for India on
26" January 2019 ?

(A) Cyril Ramaphosa

(B) Jigme Khesar Namgyel Wangchuck
(C) Barack Obama

(D) None of the above

What is the main aim of the Fit India
Campaign recently launched by the
Central Government ?

(A) To select best athletes from all
aver the country to train for next
Olympics game

(B) Encourage people to inculcate
physical activity and sports in their
everyday lives

(C) Provide nutritious food for
adolescent girl child in the rural
areas of the country

(D) None of the above

4. What is TRAI stands for ?

(A) Telecast Regulatory Authority of
India

(B) Telecom Regulatory Authority of
India

(C) Telecom Regional Authority of
India

(D) None of the above

5. Consider the following statements about

Border Security Force (BSF).

1. The Border Security Force (BSF) is
a Border Guarding Force of India.

2. It is a paramilitary force charged
with guarding India’s land border
during war time and preventing
transnational crime.

3. Itis a Union Government Agency
under the administrative control of
Ministry of Defence.

4. It currently stands as the world's
largest border guarding force.

(A) Only the statement 1 is true
(B) The statements 1 and 4 are true
(C) The statements 1, 3 and 4 are true

(D) Allthe statements 1,2, 3and 4 are
true

Exercise Yudh Abhyas 2019 a joint
military began recently between which
of the following countries ?

(A) India and Japan
(B) India and USA

(C) India and England
(D) None of the above
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1. Tfee o At i gerar 2 O Aigen

& T S P FoR TR R, IR A RS 7
(A) ST Sfe!

(B) =t wifs

(C) Wi wfE

(D) 3% H ¥ HI3 T

. 2654t 2019 T YR % 70 o MU feag

1 & AT i 941 7

(A) Wi TR

(B) o @ amwmTe ST
(C) I ey

(D) I W @ FIS TEl

. %% SR 3N T & 4 g fee e fke

s afmmaI g stm R ?

(A) TS Aeifis Gt & forg gqut 3w
@ gat gelEl i g

(B) T &l 34 afds Sfiew & wRifE
wfafafy oin @t %t it F3 %
o Seafea

(C) 31 % urHior &1 A ferumife =61 giwes
IS IYSTsY AT

(D) mﬁéaﬁi#’f

4. FH.IWTAE. (TRA) = Eﬁﬂ g

(A) Fererree TR STt s SR
(B) Zferrin Teredt et 1w sfean
©) %%aﬁrrﬂmaaﬁeﬁfﬁmm
(D) 3% H ¥ FIE T2

. e e § e (BSF)%%&ﬁﬁﬂ%ﬁﬁﬁ

FYET TR |

1. i e s (BSF) R 6 dimat
1 A AT 9 2 |

2. TBYS & THY uHa Y o Fir Frgeen
3R IR TS YUY il Ve & THR
T Tk 31 B e R |

3. g & WA & W e &
el U T GEHRI UStE § |

4. I8 gaum ¥ fava =g € dim
TETAR | |i

(A) FaAFH 1 TI L |

(B) HuT 134T & |

(C) T4 1,33 4T &

(D) aft e 1,2, 334 ag &

. g% WM 2019, Th g 8 HASE

w1l & 8 for it % e o gan 7
(A) ¥Rd 3R SIH l.

(B) WA 3 qTHT
(C) wra 3R wie ].
(D) SFKHAHETE |
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7. Which political leader was honoured

with an ‘Global Goalkeeper Award’ by
Bill ar?d Melinda Gates Foundation for
Swacrch Bharat Abhiyaan ?

(A) Fﬁiyush Goyal
(B) Narendra Modi
(C) Rajnath Singh
(D) N

None of the above

The book ‘Annihilation of Caste’ was
written by

(A) Mahatma Gandhi
(B) Lal Bahadur Shastri
(C) B.R. Ambedkar

(D) None of the above

Consider the following statements about
Ozone layer.

1. Ozone is a Blue colour gas found
an Earth’s atmosphere.

2. The ozone layer only makes up
0.00006% of earth’s atmosphere.
Although it protects the earth from
harmful rays.

(A) dn!y the statement 1 is true
(B) Only the statement 2 is true

(C) Both the statements 1 and 2 are
triue

(D) None of the above

00 0 OO ¢t

10.

11

12.

What is KG stands for in “KG Basin”,
which is known for the biggest natural
gas reserves in India ?

(A) Krishna-Godavari

(B) Kaveri-Ghataprabha

(C) Ken-Ganga

(D) None of the above

What s the main objective of Government

of India Blue Revolution Scheme ?

(A) Overall development of fisheries
sector, including enhancement
of production and productivity,
improving the livelihood of the
fishers and welfare of fishermen

(B) Development of all water sources in
the country by increasing catchment
area by construction of dams etc.

(C) Development of Inland water ways
in the country by interconnecting
rivers

(D) None of the above

Which of the following animal given
below is declared as the National
Heritage Animal of India ?

(A) Tiger

(B) Lion

(C) Elephant

(D) None of the above
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‘KG S 3§ KG Torges fo avmen @, s
RA B YThide T8 &1 T8 981 HeSn 2 ?
(A) Fem-Terr]

(B) FHTI-Hg

(C) FA-Tm

(D) 3FaH T FIS T

T GER o6 ATefl il FSHT 1 e

TR ? |

(A) 3eUTE 3R dcqiqchdé 7 sgrd,
HYHT o STaH I GETAT ST AGTR
& Tl Gied TS Ie &7 %1 GHY
T

(B) mmﬁ%ﬁwhmmaﬁam
23 | wft 51 Gt =5 e

() fedt =it sy o Sigaw an A
am%sﬁusrarrrrﬁwﬁem

(D) S H ¥ HIS T

91 feg e stre 8 @ Rl s v U
ferrer gy wnfva R e & 7

(A) ™

(B) =

(C) =t

(D) 39 # & IS T&
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22.

23.

24,

25.

26.

} if) General Intelligence and Reasoning Ability

Compléte the analogy, Cow : Calf : :
(A) Dag: Puppy

(B) Cat:Cub

(C) Lion : Kitten

(D) Duck : Chicken

Chennai is to Tamil Nadu as ? is to
Bihar |

(A) Bhopal

(B) Patna

(C) Ranchi

|
(D) Bandipur

Select the pair in which the numbers are
similarly related as in the pair 9: 81.

(A) 2:6 (B) 3:27
(C) 4:16 (D) 5:125

Select thF words which are least like others
words in the group.

(A) Physics

(B) Chemistry
(C) Mathematics
(D) Civif:s
Select the number which is different
from rest three.
(A) 75 |

(C) 165|

(B) 105
(D) 205

Select the group of letters which is
different from others.

(A) ZYX (B) NML
(C) IGH (D) QPO

27.

28.

29.

30.

31.

Find the correct alternative for Jupiter,
Uranus, Saturn.

(A) Stars

(B) Planets
(C) Satellite
(D) Asteroid

Complete the series : 5, 10, 15, 20, 25, ?
(A) 30 (B) 35
(C) 50 (D) 55

Find the missing letters that will complete
the series.

PPQq——-pg-pp——Qq-
(A) ppgpap
(B) pagppq
(C) papqqp
(D) ppappq

In a certain language if ‘POLISH’
is coded as ‘HSILOP’ then how is
‘TUMBLER'’ coded 7

(A) REBLMUT
(B) RELBMUT
(C) RELMBTU
(D) RELBUMT

P and Q are brothers. S and T are
sisters. P's son is T's brother. How is
Qrelatedto S ?

(A) Uncle
(B) Grandfather
(C) Father
(D) Brother
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ii) AT g A arfdhen arEar |

Wﬁ@fﬁ,m:m::
(A) F : Taeen

(B) fereeft : I =1 ==t

(C) I : faeeht 1 5=

(D) =@ : Jrff =t IS

=S qieHTg ¥ 36 TR gafad & o 7
foem @

(A) Tl

(B) 9

(C) T

(D) SR

Efm TR Imo: 817 |

(A) 2:6 (B) 3:27

(C) 4:16 (D) 5:125

JE Y168 YT SN HYE H 3 veal § Had
¥ e |

(A) siifees famm

(B) W fagm

(C) Tifvra IR

(D) AriE wmE

TS GRSt I AR A fiE R |
(A) 75 (B) 105

(C) 165 (D) 205

A& 1 9% TYg gAU S s A i ® |
(A) ZYX (8) NML

(C) I1GH (D) QPO

27.

28.

29.

30.

31.

Saftrer, g, w1 3 fore wd ferres gfi |
(A) ?Iﬁ |
(B) u® ‘|
(C) 39u= l
©) uE |
sj@mq;ﬁﬁ:s,w,w,zb,zs,?

(A) 30 (B) 3;5
(C) 50 (D) 55

I SR T A e 9ol |
PPAq——Pg—-pp——q-

(A) ppgpgp |.
(B) pqappq
(C) papqap |
(D) ppappq L

T 99T § ‘POLISH' =1 Ife ‘HSILOP’
for@d & @ TUMBLER' mﬁzwﬁn?

(A) REBLMUT L
(B) RELBMUT
(C) RELMBTU L

(D) RELBUMT [

PaﬂtQﬂﬁ%,SaﬂxT%%,ngT
FIER 1 Q, SY form v wefem ? 7
(A) == "

(B) @@ !;

(C) foar

(D) g
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32.

33.

34.

35.

-10-

Sandesh went 25 meters to the East,
he turned left and walked 20 meters. He
turned|again right and went 40 meters.
He agéain turned right and walked
20 meters. How far is he from starting
point 7

(A) 50 meters
(C) 65 meters

(B) 56 meters
(D) 60 meters

Frencm, Portuguese, Tamil can be
represented by

(A) Cm
OO0

©(0O) O

In a digtionary, which of the following
words will appear third ?

(A) Puncture
(B) Punctual
(C) Panctuation

(D) Punctuality

Inthe series 422363175432 1
1281754211 how many pairs of
successy;ive numbers have a difference
of 2 each ?

(A) 5 (B)
(C) 6 (D)

O 0 00 00 O 0 00 0

36.

37.

38.

39.

40.

Q2222707

(A) 343 (B) 350

(C) 210 (D) 336

If + means —, — means +, x means =,

+ means x then value of
20x10+15-20=37

(A) 21
(B) 47
(C) 15
D) 0

There are five books X, Y, Z, W, V. The
book Z lies above V. The book X lies
below Y, V is above Y, W is below X.
Which is at the bottom ?

(A) V (B) Y
C) w (D) z

Find the missing number.

3| 4|7

5|13 |7
21415

30 |48 | 70
(A) 3 (B) 2
(C) 4 (D) 5
Find the missing letter.
A|lF|K
C|lH|[M

oy Q1 V

(A) M (B) I
€ L (D) E
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Tew 26 Hie gd § T, 9% A ge iR
20 Hiex e | 712 3T gt 7R f 40 e
=e | 9% T and e ot 20 et == |

- T smfve g 8 et w2 7

(A) 50 Hiex
(B) 56 Hiex
(C) 65HIX
(D) 60 HieX

wEEh, el afer g e
I E |

QO
QOO
(C)@ O
(D)

TF IEEHIN H, HAGT I8 dE FH W
HT@T ¢

(A) Puncture

(B) Punctual

(C) Punctuation

(D) Punctuality

(A)
(B)

TEA142236317543211231
5421 1 ¥ foras AT TS & Wi

e s dad 2% s ?
(A) 5 (B) 4
(C) 6 (D) 7

36.

37.

38.

39.

40.
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o e T

(A) 343 (B) B850

(C) 210 (D) 336
ﬂﬁ+ﬂﬁ%*,~ﬂﬂﬁ%+'xﬂﬂﬁ+,

=1 7S x a1 20 x 10
FIAEE

(A) 21
) 15

(B)
(D)

i+15—-20+3

47
0

U gEF X, Y, Z, W, M ® | TR Z, V
FINW R I TAH X, Y F TR R |

V,YHFWE |W,x€5=ﬁ%% | 9 |

F-H g el ? 7

(A) V (B)

C) W (D)

T & 1 |
3147
5131L7
2|4a]s
30 [ 48] 70

(A) (B)

(C) 4 (D)

T &I A
AlF|K
C|H|[M
?71Q|V

(A) M (B)

C) L (D)
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45,
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iii) Arithmetical and Numerical Ability

HCF af 210, 385 and 735 is

(A) 5 (B) 35

(C) 25 (D) None of these
If 7%+7|= 494X then x =

(A) 2 (B) 1

(C) -1 (D) None of these
Value of 9 sec?A — 9 tanA =

(A) 1 (B) 9

(C) 8 (D) 0

|
Value :;Iaf SinA x cosecA x cosA x 3secA
is |

1
A 3
© 3

B) 1

(D) None of these

If cosA =-§ where A is an acute angle

then, tan A =

® 3 ®)
|

(C) (D)

W
MW bW

The value of k if the points A (2, 3),
B (4, k)land C (6, — 3) are collinear is
(A) -3 (B) 3

(C) o (D) None of these

The area bounded by xy =1, x=0,y=1
andy=i2is
(A) log2

(C) 2lag2

(B) 2
(D) log 2

48.

49.

50.

51.

i
The 11" termofan A.P., -3, &% 2,......
is

(A) 28
(C) —22

(B) —38
(D) 22

The sum of the reciprocals of Mr. Ram’s

ages (in years) 3 years ago and 5 years
1

from now is 3 His present age is

(A) 7
(C) 6

(B) 4
(D) None of these

2
J-(x+1) (x +logx) i
X
3

(x +logx) +é

3

1
—_——cC
(x +logx)?

1
X +logx

(A)

(B)

+C

(©)
(D) None of these

The area of a sector of a circle with
radius 6 cm if the angle in the sector is
60°, is (m = 22/7)

142
it =
(A) - cm

132
7

14 cm?

cm?

e sz
7
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iii) ST Ud HEATeH gl |

210, 385 31K 735 FTHEU &

(A) 5 (B) 35
(C) 25 (D) ¥ § FIS &I
Ife 747 = 49% A x =
(A) 2 (B) 1
(C) -1 (D) ¥4 | I3 el
9 sec?A — 9 tan2A H U B
(A) 1 (B) 9
(C) 8 (D) 0
sinAxcosechoogAxSSecAaﬂm%
® 3 ® 1
(C) 3 (D) 3 @ FI18 &
gfe cosA:% W&l A U =7 0 R
tan A =

4 3
(A) 3 (B) 2

5 3
© 3 O %
Ifs g A (2, 3), B (4, k) 3R C (6, — 3)
YAk FIIE R
(A) -3 (B) 3
(C) 0 (D) 9 & HE 7

gI R HEg xy =1, x =0,y = 1 3K
V=2

(A) log2
(C) 2log2

(B) 2
(D) log V2

48.

49.

50.

51.

T R A 3, ~=, 3, 111
LEA |
(A) 28 (B) —38

(C) —22 (D) 22

oft T i 31y (It #) aﬁ:{aﬁqﬁaﬁt
saﬁara%sgc—ﬁﬁaw %lwaﬁ’r
FAuH 3 3
(A) 7
(C) 6

(B) #
F—Tﬁ@raﬁéqﬁ

J(x+1)(x+logx)2 dx =
X |

v 3
(x+logx) o |
3 |
; |
+C _
(x +logx)? ]
1 |

+

X +logx

(A)

(B)

()
||

(D) T @ g T I

Ife frearas =1 Fv1 60° 2 @1 6 F.H.
B T o 9 F g w5 dawa 2
(m=22/7) '

142
(A) — cm?2

132
2
(B) - cm

(C)

|
|
1
14 cm? |

|
130 '

(D) — cm?

7
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52.

53.

55,

56.

144

An observer 1.5 m tall is 28.5 m away
from ajchimney. The angle of elevation
of the top of the chimney from her eyes
is 45°.|The height of the chimney is

(A) 285m (B) 31m
(C) 30m (D) 29m

Ms. Priya saved Rs. 5 in the first week
of a year and then increased her weekly
savings by Rs. 1.75. If in the n week her
savings become Rs. 20.75, then n is

(A) 5|
(B) 20
(C) 10
(D) None of these

The value of k, if x— 1 is a factor of

p(x) = kx® —V2x +1 is

(A) 2

(B) V2 +1

(C) v2-1
)

(D) None of these

If the angles of a quadrilateral are in the
ratio 3{5:9:13. The smallest angle in
quadriilateral is
(A) 60°

©) 18

The height and slant height of a cone
are 21 cm and 28 cm respectively. The
volume of the cone is, (n = 22/7)

(A) 7546 cm3
(B) 7654 cm3
(C) 7504 cm3
(D) Nane of these

(B) 36°
(D) 21°

0 0 000 0 O 0

57.

58.

59.

60.

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is drawn at random,
the probability that it is white is

(A)

(B)

O|+ ©O|N W[l

(C)

(D) None of these

Sides of two similar triangles are in the
ratio 4 : 9. Areas of these triangles are
in the ratio

(A) 2:83
(B) 4:9
(C) 81:16
(D) 16: 81

The values of k if the quadratic equation
kx (x = 2) + 6 = 0 has 2 equal roots, are

(A) 0,6

(B) 6

(C) -6

(D) None of these

Two consecutive odd positive integers,
sum of whose squares is 290 are

(A) 11and 13

(B) 11and 9

(C) 7and 9

(D) None of these
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1.5 X &= U gdaders v ot 8
28.5H1. Q2 | 35 i F w6 ofid
1 31T I 45° 2 | Fewt i Sard 2

(A) 28.5m (B) 31m
(C) 30m (D) 29m

gt S o o & e waE A 5%, =
3R TR 1ot wrefes sa @1 1,75 %
Fgr ot 2 | 3t n 3 g § S9h w99
®. 20758 WA RN Y

(A) 5

(B) 20

(C) 10

(O) THARETE

kST 9H, 312 x — 1, p(x) = kx? = V2x + 1
1 U TUAES 8

(A) 2

(B) v2+1

(C) v2-1

(D) 3 I s T

I TH AQYT F A 3:5:9: 13 %
AT H & | TGS BT T BN 0T R

(A) 60° (B) 36°
(C) 18° (D) 21°
T 915 il T8 3R fodes S=rd 21 & 1.

31 28 H.4ft. s ¥ | v 1 e R
(m=22/7)

(A) 7546 cm®

(B) 7654 cm3

(C) 7504 cm3

(D) 37 & =ig et

S7.

58.
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60.
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@aﬁﬁaﬂ?ﬁ,zﬁaﬁpumiﬁ%
Ife A ¥ ¥ u FHur Fwen s

® 91 35 vaq B4 i Wi

@) +

:Q%Ha'trmﬁ

(B) 4:9
(C) 81:16
(D) 16: 81

kmmaﬁﬁwaﬁmk&a-z)w:o
% 8 T g §

(A) 0,6

B) 6

(C) -6

(D) 38 § FIE e
A ST e T quTlen fareh &
1T 290 B
(A) 11313
(B) 1139
(€) 739 |
O FHIFEHE |
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

| &= wmw sk

i e e AR
FEAE |
(A) U8

() ==

(B) T
(D) T

‘teerdT’ wrETis wiee 1 fare B
(A) TR % H e

(B) WA =1 awa

(C) W o fore qman

(D) qﬁaﬂtm
<o’ 1 wfy frede

(A) 3H+T=

B) 3+ ==

(C) 3§L+fﬁw

(D) 3+ 3=

%@W@WW|
(A) eI
(B) Ty AT
() fafir arwr
(D) FIE
wjmﬁm | a1 Sifer €9
BT
(A) TemaT 3 gm & |
(B) tn!ﬁ%mﬁm
(C) TS 3 91 =i &M & |
(D) it 3 o o |

|

66.

67.

68.

69.

70.

et faeredt § & forer fameg & onfl
Y1e8 S feaaTse G3d & 7

(A) THAT, S, THEH

(B) THva™, g, feaer

(C) 3, |rer, T

(D) 3erft, IR, <Rt

e a1 fauras 2 | @it wse Sia-a1
fasmo wwr ® 7

(A) TUET==H

(B) AN

(C) T&IETEH

(D) uiEETES

TE are g |

(A) ==H1 I FHIEH G fgen at |
(B) AT STEH 4T |

(C) 3= ! g fopam I &4 |
(D) # 3ret feremera =& st |

TSI¥T TR & T & |
(A) Efere saeTe
(B) T HiasIqehict
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a. faemg |, &
b. s Il. 3%0a
c. 9T . ¥
d. W@ V. 92
(a) (b) (c) (d)
(A) (1) - ay v
(B) (1) (1 (1 (v
(C) (i) M av)
D) (v) iy ()
el oo fifs
a. &fq |, ==
b, & |1, =Ty
c. fer 1. T
d. 3oy V., &
(a) (b) (c) (d)
(A) (IV) () (I (m
B) an (V) (
€ am avy @ @
D) (v)y —qam
‘SR -3 I 1 wer 3 @
(A) ITR-IHTR
(B) a&=-3Tcafyeh
(C) ATHEI-TSF e fasiy
(D) wueT-freg
168 -1 fohae TR Bt 2 7
(A) (B) IW
(C) = (D) U=

75.

76.

77.

78.

78.

80.
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(A) =t (B)
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(A) =&

(B) e st

(C) HaT?
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00O A O O

| v) English Language and Comprehension
| FR A SR Ay

Each of these questions presents a word
that may héve been spelt incorrectly. From
the choices provided pick the correct spelling
and mark trrat option of the right choice as
the answer..i

81. Fluktuation
l
(A) fluctuasion (B) fluctuation
(C) flgktuation (D) fluctution

82. Ricieve
(A) recieve (B) receive
(C) riceeve (D) riceave

Fill up the blanks with appropriate articles
from among the options given below them.

|
83. He said he would have

orange.
(A) Al
(B) an
() on
(D) nqne of these

84. The ediucated should teach
illiterate.

(A) the
(B) an
(©) a
(D) nolhe of these

85. Pacific Ocean is the deepest
of earth’s oceanic divisions.

(A) A

(B) An

(C) The

(D) No article required

Read each sentence to find out whether there
is any error in it. The error, if any will be one
part of the sentence, the number of that part
of the answer.

86. Despite of / taking plenty of / fluids he
(A) (B)
felt exhausted / tired and dehydrated.
(C) (D)

87. |have a lot / of work to complete and /

(A) (B)
so don't get worried / when | am late.
(C) (D)

Select one word substitute for the following.

88. ‘A place where horses are kept’
(A) Shed (B) Stable
(C) Kennel (D) Pen

Add suitable question tags to the following
statements from among the choices given
below them.

89. lcanhelpyou___ 7
(A) canl
(B) can'tl
(C) couldn't|
(D) will |
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90. It was a fatal accident, ?
(A) ain'twe
(B) aren'twe
(C) wasn't it

(D) were we

Fill in the blanks with suitable prepositions
from among the choices given below them.

91. [I'll be at home Friday morning.
You can phone me then.
(A) at (B) on
(C) in (D) for

92. What time did they the hotel ?
(A) arrive to (B) arrive at
(C) arrivein (D) getin

93. Have you read any books
Agatha Christie ?

(A) of

(B) from

(C) by

(D) none of these

Choose the correct form of the verb from
among the choices given below them and fill
in the blanks.

94. Cows
(A) eat
(C) had ate

grass.
(B) eating
(D) have ate

95. The Swamiji
yesterday.

(A) spoke

(B) had spoken
(C) speaking
(D) speaks

very eloquently

|

MKG-XXV/TECHCIIESM/1T/07

96. Take care that you
cheated.

(A) will not be
(B) are

(C) won't

(D) shall not be

not

Select the word that is most similar in meaning
(synonym) to word given in the question.

97. Transient
(A) concise
(B) hasty
(C) persistent
(D) impermanent

98. Demography
(A) People’s leader
(B) Language of the peoiole
(C) Study of population |
(D) None of these

Select the word that is opposite in meaning
(antonym) to the word given in the question.

99. Sedentary
(A) slack
(B) active
(C) inhabit
(D) attentive

100. Novice
(A) learned
(B) expert
(C) able

(D) gifted
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101.

102.

103.

-20-

Which of the following is not a
semiconductor material ?

(A) Gallium Arsenide
(B) Silicon

(C) Copper

(D) Germanium

A diode is classed as reversed biased
(A) When both anode and cathode are
positive

(B) When both anode and cathode are
negative

(C) When the anode is more positive
than cathode

(D) When the anode is more negative

than cathode

Identify the following circuit.

(A) Half wave rectifier
(B) Full wave rectifier
(C) Bridge rectifier
(D) None of these

SECTION - B
Post Specific Subject - Related Questions

104.

105.

106.

107.

is a special type of diode used
toregulate or stabilize the voltage in home
appliances.

(A) PN junction diode
(B) Tunnel diode
(C) Zener diode

(D) BJT

Opto-coupler is a device that used light
to

(A) Couple two pn junctions

(B) Couple a signal from its input to its
output

(C) Couple collector to ground
(D) Couple collector to emitter

The section on one side of the NPN
transistor which supplies carriers and
is always forward biased

(A) Base

(B) Collector
(C) Emitter

(D) All the above

In region, the bipolar transistor
is Fully-OFF operating as a switch and
the collector current is equal to zero.

(A) Active region
(B) Passive region
(C) Saturation region
(D) Cut-off region
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uree e fawa - dast e

TR

(A) Tiferm sEAEe
(B) fafe=ria

(C) e

(D) SHf¥Ew

Ife

(A) BV 3R AR ST ST &
(B) RO TR €T SH1 FOTHS &
(C) & &I oM ¥ Af¥re aaTens: B
(D) T ST RO § e s 8

frafefas gfty g |

104.

105.

106.

107.

|

e T § diees i fafafia
3R fér w3 ¥ wgEd B9 A o ey
TFERFI AR R |
(A) PN S SHTE
(B) & SIS
(C) SR SHE
(D) BJT

TS - T e & 511
RTYT T TN Al € |
(A) 3 pn ST it e

(B) U Hehd i IHh HATTH H S5
e

(C) %ﬁmﬂ@ﬁmﬁ:
(D) FerFet it T F e

NPNgﬁm%@qawﬁga‘r%fm
SATgf =t & iR wea St Al TR g ©
(A) =@ |

(B) e

(C) T

(D) 3 &t
i, ey g o e
TEaT & S U e it uftenferd &t @ iR
FoFR @y adi e | |
(A) |l &

(B) ¥fa &=

(C) wqfwt &

(D) He-3ATH &

&
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108.

109.

In the following voltage divider circuit,
Vout Will be equal to

Sy 0

v

O
(A) Vg
(B) Vg Vn1-VR2
(C) V4R /(R4 +Ry)
(D) v;R1;(R1+R2)
l
Basic difference between bipolar

— Y

-

transistor and field effect transistor is
that

(A) Bipolar transistor which is a current
operated device and field effect
transistor is a voltage operated
device

Bipolartransistor is a voltage operated
device, field effect transistor is a
current operated device

(C) Both A and B are true

(D) None of the above

(B)

110.

11,

112,

MOSFET stands for

(A) Metal Oxide Surface Field Effect

Transistor

(B) Metal Oxide Semiconductor Field

Effect Transistor

(C) Metal Oxidized Selenium Field

Effect Transistor

(D) Metal of Surface Field Effect

Transistor

An amplifier has a power gain of 800.

What is the decibel power gain ?
(A) 10log,800
(B) 800log,10
(C) 10log,,800
(D) 800log,10

Differentiator amplifier produces an
output that is the mathematical operation

of

(A) Difference between two input
voltages

(B)

Difference between two output

voltages
(C)
(D)

Integration

Differentiation
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Frefafeaa gees fawes ooy &, v
% SR BA1Y |

out

o

g —

S -

(A) Vi

(B) Vs Vg - Vp,

(C) V{R,/(R, +R,)

(D) V(R{/(R;+Ry)

fageta giftret ofk & wvma Zifvre &
IR AR I & 5

(A) eyt gifsret < e forega wirfera

IR ¥ 3N & e Zifeer
ateest afanterd g 2

B) Teydta zifvret w Ao ginfem

I 2 ok 8w gifRe fem
gftarfera g &

(C) ABaI v &
(D) 3% H F FrE &

110.

113,

112.

g
MKG-XXV/TECHCIIESM/1T/07

MOSFET B ST R |
(A) Metal Oxide Surface Field Effect

Transistor
(B) Metal Oxide Semico:;wductor Field

Effect Transistor

(C) Metal Oxidized Selenium Field

|
Effect Transistor

(D) Metal of Surface Field Effect

Transistor |

U YaueE F1 Wfdd &9 800 & | S
yifert &y foraa 2 7

(A) 10log,800
(B) 800log,10 a
(C) 10log,,800

(D) 800log,,10 g

Wm@mﬁﬁﬂm%
Ell Wﬁfﬁﬁﬂ‘qqﬁ(ﬂ'ﬂq%l
(A) T TF dlees § FHew |

(B) B Sae Ateesii # e ’i

(C) eI

(D) FsheA
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113.

114.

115.

116.
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If a number of signal amplifiers are
connegted in such a way that the output
of first|stage is connected to the input
of the second stage through a suitable
coupling device and so on, then such
amplifiers are called

(A) Cnioupled amplifiers
(B) Cascaded amplifiers
(C) Load amplifiers

(D) Feedback amplifiers

Signal! to noise ratio of a system is
expressed in

(A) Hz

(B) ENOB

(C) dB

(D) bM

filters maximise the transition
band cutoff rate at the price of introducing
passband ripples.

(A) Chebyshev
(B) Butterworth
(C) Cauer
(D) Ideal

Astable multivibrator operating at 150Hz
has a hischarge time of 2.5m in Duty
cycle of the circuit is

(A) 50%
(B) 75%
(C) 95.99%
(D) 37.5%

O 00O O O

117,

118.

119.

120.

A device which maintains the output
voltage of an ordinary power supply
constant

(A) Amplifier

(B) Regulator

(C) FET

(D) BJET

The inverting op-amp shown in the

figure has an open-loop gain of 100.
The closed-loop gain V5 / Vg is

R, = 10KQ
AV
R, = 1KQ
V V1+>*"__'
| [onom]
(A) -8 B) -9
(C) —10 (D) —11

Find the decimal equivalent of the binary
number 11011001.0101.

(A) 712.735
(B) 201.375
(C) 127.375
(D) 217.375

The Octal equivalent of HEX number
CD.ABis

(A) 315.526
(B) 205.667
(C) 315.625
(D) 205.526
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afe Herd YaHsh Il T 36 HR S §
TS ST o Srem =T 5 e fid =
% ST o HTY T TS o o ATEIH A
I 7R o1 oft 36t YR = At U yadw
FEA ¢ |

(A) el TEEH

(B) TR Yae®

(C) WR yaH

(D) s yaeds

T WUt 261 e & €A ST9Ta
7 srfirere o SmaT 2 |

(A) Hz
(B) ENOB
(C) dB
(D) bM

TTESE T ] Y% A bl A
Fl W W I S FEATE R FI ot
AR A2 |

(A) =i
(B) weEd
(C) KX

(D) e

R 9gHIF FT Hed T97 150Hz F
fEe W 2.5 e ® | aioy s s T

(A) 50%
(B) 75%
(C) 95.99%
(D) 37.5%

117.

118.

118.

120.
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T IR < O TR S A R
Y ST Fed FTUeA F

(A) EE |

(B) Trm=s

(C) FET |

(D) BUET L

\
& Ydaeh op-amp,ﬁ‘\%ﬁﬁﬁ@mw
R, IGe! qFA-HIT &9 100 ¥ | SE-HE
Vo / Vg ® '

R, = 10KQ
AN\
R, = 1KQ ,
\}5 i V1t>‘_L_{i
| T
(A) -8 B) -9
(C) -10 (D) =11

T T 11011001.0101 1 EMed
T 2

(A) 712.735

(B) 201.375

(C) 127.375 l

(D) 217.375 |

TR T&AT CD.AB 1 ILTHH THIH
2 |

(A) 315526 "

(B) 205.667

(C) 315.625

(D) 205.526
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121,

122.

123.

124.

The 2's copplement of 11001 is
(A) 1001 !'
(B) 00110
(C) 00111
(D) 10101

In an EX-OR gate, when any one of the
input is ze:'o then output

(A) Will t[

input |

e the inverse of second

(B) Will bF same as the second input
(C) Always 1
(D) Always 0

Inan8:1 |rnultiplt-:‘xer, number of select
lines will be

A 1
® 2 |
©) 3

D) 4 |

Ina full adder with inputs A, B and C, which
of the following is an expression of carry
|

out ? |

(A) AGB®C
(B) AB+BC +AC
(C) ABC|

(D) A+B+C

125.

126.

127.

128.

In JK flip flop, outputs will be the
complement of previous state when
inputs are

(A) 00
(B) 01
() 10
D) 11

Which of the following is an example of
algebraic associativity ?

(A) (A)=A

(B) A+A=A

(C) A+AB=A

(D) A+ B+C)=(A+B)+C

Calculate the resistance for the
conductance values 0.05S.

(A) 10 Ohm
(B) 20 Ohm
(C) 100 Ohm
(D) 50hm

is a variable resistance with two

terminals connected in series with a
load. The purpose is to vary the amount
of current

(A) Potentiometer
(B) Rheostat
(C) MOSFET
(D) None of these
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11001 % 2 T STH & ~
(A) 10011
(B) 00110
(C) 00111
(D) 10101

T EX-OR T2 H, 51 1S +ff e I &
I ICER

(A) ER TTE 1 I BNt
(B) TER 319 % TWH Frft
(C) a1
(D) |eF0

T 8 : 1 AeSIAeraL o, T3 @1l ohl 6
il

(A) 1

(B) 2

(C) 8

(D) 4

Ha% A, B 3R C 1t & of s
fr=fafas 3 @ =- oof #@ =
Aot & 7

(A) A®B®C

(B) AB+BC+AC

(C) ABC

(D) A+B+C

125,

126.

127.

128.
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K e e, e ot 2
ST B ST T ¢ |

(A) 00 L

(B) 0

() 10 ‘.

(D) 11

ﬁﬁ%@ﬁﬁﬁﬁ?—mwm
m@?ﬁﬁtﬂi%? |
(A) (A) = -'II
B) A+A=A |
©) A+AB=A |
0) A+(B+C)=(A+B)+C

ST AT 0,058 ¥ R firdes S momn

| (,

(A) 10 Ohm ='.

(B) 20 Ohm

(C) 100 Ohm

(D) 50hm
EW%W%@Wﬁ@%a

Eﬁﬂﬁ@muﬁﬂu%laﬁ#ﬁgﬁﬁw

H =g | |

(A) feryammd :

(B) o g

(C) MOSFET

(D) ¥ ¥ =13 7
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129.

130.

131.

-28-

How much current flows in the filament
of a 300-W bulb connected to the 120-V
power Iinel,?

(A) 500 nIA
(B) 1A
(C) 25 A||
(D) 12A ||

The curreE in an open circuit is

(A) n(::rm| lly very high because the
resistance of an open circuit is
0 Ohm

|
(B) usual||y high enough to blow the
circuit fuse

(C) zero Inl

(D) slightly below normal
|

Figure shows the series circuit with
voltage-cﬂ‘opping resistor Rg used to
drop V, of 12.6 V to 9 V for R, . Value

of R _is
|
- agh
+ |
=
T 128V 9V
R| at V,
Il 18 mA
| !
(A) 1od?hm
(B) 100/0hm
(C) 150/0hm
(D) 200 0hm

132.

+
V|=10V;’_-“ c

133.

134,

In the below figure of a Wheatstone
bridge, the current in M, reads OpA
with the standard resistor Rg adjusted
to 5642 Ohm. What is the value of the
unknown resistor Ry ?

Standard resistor R
09938 (3 (variable

in 1-Q steps)

(A) 5642 Ohm
(B) 564.2 Ohm
(C) 56.42 Ohm

(D) 5.642 Ohm

For application of Ohm'’s law
of circuit must remain constant.

(A) Voltage
(B) Current
(C) Resistance

(D) Inductance

attenuates frequencies above the
cutoff frequency.

(A) Low pass filter
(B) High pass filter
(C) Band pass filter
(D) Band reject filter
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120-V Fe1l @15 | S TF+300-W 5odl
ag # foraft forgga yarfea St & 2

(A) 500 mA

B) 1A

(C) 25A

(D) 12A

T g aiy d fagg &

(A) THT=E: T 3= 06 U Gl
uftqe =1 wfekiy 0 SAeq ?

(B) Uftqe 1 = 3TM & fore waiw 3=
T BT ®

©C) ™™
(D) T & drer f=

AR BV, F 12,6 VH oV inm
T S dleest et wfates Rg arer
e iy e @R | R FAF R

 sh

+

=1

T 126V 9V }
R| at V,

18 mA

(A) 10 ="

(B) 100 3N=H

(C) 150 3iew

(D) 200 3fgH

132.

133.

+
V, =10V

134.
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4 fro e o e g 2, M,
farera OpA 2 STt 5642 3AER T THEITS
e T Rg & 919 § | S19Ta Mol e
Ry mAREIR? |

Tl
(@]

099990 (1-Q
0| ¥ )

(A) 5642 3TEH ,
(B) 564.2 3eH h,
(C) 56.42 3w -*
(D) 5.642 3R |

’
HAren fram & g % fom
=1 wfz R T ST = |
(A) drees 1

B) e ',1

(C) =4 1

1

(D) T=FH

I g FAT 8 |

(A) = amm e
(B) 3= T foheex
(C) oy fheex ,
(D) e feiTe fheet |

1
l
l_
!
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135.

136.

137.

138.

139.

The shadng of valence electrons in a
silicon crystal is called

(A) dopijg

(B) the avalanche effect
(C) oovaij'!ent bonding
(D) coupling

Which of the following biasing techniques
produces the most unstable Q point ?

(A) voitafge divider bias
(B) emiqer bias

(C) c:o[lefctor bias

(D) base bias

A transi?tor amplifier whose input is
applied 1p the base and whose output
is taken from the emitter

(A) Corﬂmon base amplifier
(B) Common collector amplifier
(C) Common emitter amplifier

(D) Swe}mping resistor

The value of drain to source voltage
Vps: atwhich the drain current |, levels
off is called the

(A) cutoff voltage, Vg o)
(B) pingh-off voltage, Vp
(C) bre?kdown voltage, Vgg
(D) thréshold voltage, VGS(th)

The inpr!xt impedance of a MOSFET is
(A) higﬂ\er than that of a JFET

(B) lower than that of a JFET

(C) no different than that of a JFET
(D) approximately zero Ohms

140.

141.

142.

143.

A class C amplifier is typically used as
a/an

(A) audio amplifier
(B) linear amplifier
(C) tuned rf amplifier

(D) none of the above

A diacis a
(A) three-layer, two-junction
semiconductor device

(B) two-layer, three-junction
semiconductor device

(C) two-layer, two-junction
semiconductor device

(D) unidirectional device

The forward breakover voltage of an
SCR

(A) decreases as the gate current
increases

(B) cannot be controlled by gate
current

(C) increases as the gate current
increases

(D) none of the above

The input stage of every op-amp is a
(A) differential amplifier

(B) push-pull amplifier

(C) common-base amplifier

(D) none of the above
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U faferehia o1 § G Soiag 1 93 | 140. TS a7 C Wads | Feud wgE
FEA L | e Il
(A) =ifg -
(B) TR I (A) =& yadF
(C) TeEdSt Iy (B) e yarei=
(D) IW4 (C) TuEiNg rf yads
frafafaa 4 @ wF-5 TafEm o= (D) 3% | Q FIE T
waffee AfeR Q forg 3ea= i @ ?
(A) dreest fasees sE 141. SHF T 7
(B) e ™ (A) i T, & St |arel srdETE
(C) Feldel TFH gﬁa 1
(D) &® &g _
(B) & Wl i SawH arel e
T IR YaY® fSEE e oW W

sgugF foran man ® of Rrwet sma=
e & form w2

(A) THEF TH TATERR

(B) T Feiael TATHIR

(C) =HiHA THIT TRATHII

(D) 3TTATEA Wfiesh

e § Fa dieest Vg F 9F i |
e forea 1, =Rt T 2
FEamd g |

(A) AT e, Vg o
(B) Ta=-3T® dices, Vi

(C) TEA T, Vg

(D) #Hid e, Vg

& MOSFET 3l 3{1ae Yferamun @
(A) T JFET i § 3fereh

(B) T JFET 1 & %0

(C) & JFET it & firg =i

(D) ST I HEH

142.

143.

RIER
(C) & T, § SE¥ #el FHETH
k(S
(D) wwfexfta gfa

Q%’SCH?ﬁmﬁ&‘ﬁI%ﬁaﬁéﬁr
(A) T forea sigH & 1y pedt B

(B) e foega g et 5 i < wohdt
(C) e forepa e % W wad @

(D) SEAFFETE

H@Ec:p-ampwmﬁ*ﬂ%@
(A) FTFHTH YaHF
(B) Fa=ma-us yads
(C) HFA-5T Yo
(D) 35§ ¥ I3 &l
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144.

145.

146.

CMRR is a ratio of the
Common-mode voltage gain to the

differential voltage gain
Difterential voltage gain to the
common-mode voltage gain

Positive saturation voltage to the
common-mode voltage gain

(D) None of these

In the tielow circuit of UJT shown, the
intrinsic standoff ratio equals

(A) Rg
(B) Ry
(C) R
(D) N¢

(B) a greater amount of output power
can be obtained

(C) the efficiency decreases
(D) both AandB

0 OO

147.

148.

149.

150.

The data in the floppy disk is divided
into

(A) Clusters and Heads

(B) Tracks and Sectors

(C) Vectors and Heads

(D) Heads and Sectors

Diagrammatic representation of an
Algorithm is called as

(A) Pseudo Code

(B) Graphic Chart

(C) Source Code

(D) Flow Chart

Noise arising in JFETs, BJTs and other
complex IC amplifiers is generally
described by

(A) Single source input model

(B) Single source output model

(C) Two source input model

(D) Two source output model

Which of the following is a special

purpose key in computer keypad ?
(A) Enter

(B) F11

(C) Delete

(D) None of these
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CMRR 1 T I 2 |
(A) T -YHR F A o9 § e
Ay
(B) aehe dlcest o § TTHI~Jhm ol
i @™
(C) HATcHS T dleest H FHT T
Fieest ™

(D) S | =g el

d= fe@me MU UJT F ufey §, sfaey
TTfeRTe ST _H R |

B

Y
I<+
L

(A) Rg/Rg,

(B) Rg,/Rg, +Rg,

(C) Rg,/Rg, +Rg,

(D) ¥ & IS TE

¥ U% a1 B famra-uss yats s

fage faga smyfd =1 wgm war 2

(A) ST w41 Y EvgEar T8
gt

(B) TS SIfar hl 31feres | wred &t s
gehdl 8

(C) &wan Tt 2
(D) A 3R BzH!
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150.
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(A) HEIFE |
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(C) T =e ||
(D) Wit 91 f,

r
JFET, BJTaﬂxmaﬁblcuaﬁaﬁﬁ

39 | FHE: | ERUETIE
STt R | ’

(A) THd GId AT qieed
(B) UsHel €I Sa% Aiee
() f% < 3mas aige |
(D) &€ sEs e |
frfeafaa & @ F-d Foge fite o
frm s ghe 7|
(A) Enter '\
B) F11 |
(C) Delete '

|

(D) 398 & =i 72
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158.
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-34-

In word jprocessing title bar contains
(A) Name of the file

(B) Stalndard operations
(C) Icons

(D) St%\us of the page

Which of the following datatype in C is
used toirepresents decimal number ?
(A) Int
(B) Char

(C) Float
(D) Boot

| statement is used to skipping

a part of loop in a C program.

(A) Return
(B) Continue
(C) Fo

(D) While

Address operator in C program is

represented by

155.

156.

157.

158.

Which of the following is a ternary
operator in C ?

(A) Bitwise operator
(B) Assignment operator
(C) Logical operator

(D) Conditional operator

In a microprocessor, gives the

address of memory location from where

the next instruction is to be fetched.
(A) Accumulator

(B) Stack pointer

(C) Program counter

(D) Status register

An 8-bit ADC outputs all 1’'s when
V;=5.1V. Its resolution is

(A) 5mV/LSB
(B) 10 mV/LSB
(C) 20 mV/LSB
(D) 100 mV/LSB

Which of the following is not a flag in
8085 ?

(A) Parity
(B) Auxiliary carry
(C) Sign
(D) Stack
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(A) IS T A
(B) Ve Iy
(C) sl

(D) U=t feufa

C # fr=fafaa # ¥ =9-41 TrERy
SIS TSI i e & 7

(A) Int

(B) Char

(C) Float

(D) Boot

VeHe C yW § %ig F TH
9T 1 Bl § FgF 2 2

(A) Return

(B) Continue
(C) For
(D) While

C I § UZH R EQEIDN
et 2

(A) +
B) #
(C) +
D) &

165.

156.

157.

158.
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(A) foeasg siimer |
(B) = 3t

(C) afeher 3Tfuter |

(D) | AR f

T AEHITHET A, r. T T

o1 9T ST & STel STl Few S S B
(A) e |
(B) RF @R |
(C) S FISX

(D) weH T [

T 882 ADC @t 1% S e o
V,=5.1V | 3o fadem @

(A) 5mV/LSB |
(B) 10 mV/LSB
(C) 20 mV/LSB
(D) 100 mV/LSB |

l

P & -2 8085 T
27 [

(A) M |
(B) Aifager

(C) wreA

(D) V&
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159.

160.

161.

162.

If a mi%rocontroller has 16 address
lines thewn it is possible to access

memory locations.
(A) 16‘

(B) 10é4

(C) 65536

(D) 16456

Which c}»f the following is not a general
purpose; register in 8085 microcontroller ?
(A) AB
(B) BG
(C) DE
(D) HL

What isi the high speed memory between
the main memory and the CPU called ?

(A) Ragister Memory
(B) Ce%che Memory
(C) Storage Memory
(D) Virtual Memory

The cammunication protocol used for

Interne# is

(A) TCP/P
(B) POP2
(C) ARPANET
(D) HTTP

OO O 0O 0

163.

164.

165.

166.

The output Y of a 2-bit comparator
is logic 1 whenever the 2-bit input A
is greater than the 2-bit input B. The
number of combinations for which the
output is logic 1 is

(A) 4

(B) 6

(C) 8

(D) 10

In MS Word Document short cut key for
page break is

(A) Ctrl+b

(B) Ctrl+p

(C) Ctrl + enter

(D) Citrl + shift

In a microprocessor, outputs of
arithmetic, logical or 10 operations are
generally store in

(A) General register
(B) Flag register
(C) Program counter
(D) Accumulator

AND operator performs another
important operation of Boolean Algebra
called

(A) logical multiplication
(B) logical addition
(C) logical division

(D) logical subtraction
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I UF ATEFRIe & 16 U3E WTed & al
THRT 9% g I 699 2

(A) 16

(B) 1024
(C) 65536
(D) 16456

frferfiad § & S -a1 8085 R IeR
4 U U 35w Woreex 7@ & 7

(A) AB

(B) BC

(C) DE

(D) HL

=T ARt 3R CPU % sfte 3= wife A
FEaTd! ¢ |

(A) e o

(B) 3t Hury

(C) RS uuRt

(D) TP wA

(A) TCP/P
(B) POP2
(C) ARPANET

(D) HTTP

163.

164.

165.

166.
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(B) 6

(C) 8 |
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(A) Ctrl+b - }
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(C) Ctrl + enter
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The C]# or Visual Basic compiler
conver"ts your code into a special
language named

(A) MéSL

(B) MSIL
(C) MI?L (D) MMSL
(x + y)-}i+y) ==
(A) x (B) vy
(C) x+y (D) xy

Which {unction key is used to edit cell
contents in MS excel ?

(A) F1 (B) F2

(C) FS| (D) F4

In Pyithon comments start with
_ symbol.

(A) ‘ (B) #

C) $ D) &

A non mety subset H of a group (G, *)

is said to be a subgroup if

(A) H:|g G

(B) H\g G and (H, *) is a group

(C) C! mmutative and associative laws
hold in H

None of these

(D)

If the data attribute of the class and the
methdd attribute are in same scope,
then the data attribute will be given

(A)
(B) lower priority
(C) no priority

(D) higher priority

qual priority

0 A 0 A

173.

174.

176.

176.

Which functions allow us to access a file
in a non-sequential or random mode ?

(A) seek() and tell()

(B) read() and readline()
(C) write() and writelines()
(D) write() and read()

In measuring instruments, under
equilibrium condition, controlling
torque(T,) and deflecting torque(T )
are

(A) T,=Ty
(B) T.>T4
(C) T,<Ty4

(D) None of these

The moving coil in a dynamometer
wattmeter is connected

(A) In series with the fixed coil
(B) Across the supply

(C) In series with the load

(D) Across the load

Magnetization current in a real
transformer is the current required to

produce in the transformer

core.
(A) Eddy current
(B) Phase

(C) Flux

(D) None of the above
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C# I ¥ ATURNT FHATZeR AT
F2 I 0 fauiw v # ufafda w2
g gl

(B) MSIL

(D) MMSL

(A) MSSL
(C) MISL

(x+y)(X+y)="?
(A) x B) y
(C) x+y (D) xy

MS Tatel 8 o sht 9Tt 1 |uTied e
% fou F-dt Savm it 1 TR

SR 7
(A) F1
(C) F3

(B) F2
(D) F4

e W, FHE oz & e gE B
2

(A) *
©) $

TH T (G, *) F AR IE=AHE, 7
ITHYE Rl Il 7, A

(A) Hc G

(B) HC G (H, *) HIE T
) fafmg s o= fAfa HHE 2
(D) ¥ & g TE

Ife 311 & T dege A fafy udsge
THH SATIHATH €, a1 S1e Ugge

=1 fou S|

(A) |uH ST

(B) =1 mafireman

(C) = Srerfirerar &t

(D) =3 Wrerfhehan

(B) #
(D) &

173.

174.

175.

176.
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T -T1 Fel &1 Ueh T3 1 1 A1geaeh
mﬁ'wmﬁqﬁﬁ F1gafd gan
g7
(A)
(B)
(&)
(D)

seek() and tell()

read() and readline()

write() and writelines()

write() and read()

uI SR §, Sqe Rt % o,

gniaa st (T,) 3R formrem st (7)

(A) To=Ty

(B) T,>Ty

C) T,<Ty4 i

©) FEIPETE |

O ST aiede # o e Feeh
| & Bt B

(A) Ffeem Feeh % e ofaen 4

(B) i &

(C) ™3 Ty fen &

(D) WRF9TH

T Ao A H e el fergd

TTEEH e | | FA H

fore anfesa feega 21 *

(A) T um

(B)

(C) war®

(D) 37 ® F =g 7
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177,

178.

179.

180.

For a 4 pc‘.fle, 50 Hz, 3 phase induction
motor, the_iisynchronous speed is
rpm.

(A) 1000

(B) 1200

(C) 1800/

(D) 1500

Average power consumed by a pure
capacitor is
(A) 0 |
(B) Infinity
(C) 10W
(D) 5W |

A sinusoi;t:lal voltage is represented as
141 .425‘1!?3140)’(. RMS value of voltage
and frequency are respectively

(A) 1412V, 314 Hz
(B) 200V, 100 Hz
(C) 100V, 100 Hz
(D) 100V, 50 Hz

If a resistor R, is connected between
nodes X and Y, Fly between X and Y,
R, between Y and Z to form a delta
connection, then after transformation
to star, the resistor at node X is

(A) HxFly/(Hx + F{y +R,)

(B) RA/(R,+R,+R,)

(C) R,R )/(Hx - Hy +R,)

(D) (Ry+ Ry)/(Rx e Rv +R,)

00000 OO

181.

182.

183.

184.

Consider the circuit shown in the figure.
Find voltage V.

R,
3
+
v
n O
(A) 1 (é) 1.25
(C) 1.5 (D) 1.75

The charge movement due to nonuniform
doping in a diode is called

(A) Diffusion
(B) Convection
(C) Radiation

(D) Displacement

Which region of the transistor is lightly
doped ?

(A) Base

(B) Collector

(C) Emitter

(D) All of the above

Givena=5,b=10; c=++a*b--; Whatare
the new values ofa,bandc ?

(A) a=6,b=9,c=54
(B) a=5,b=10,c=50
(C) a=6,b=10,c=60
(D) a=6,b=9,c=60
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VEF:

178.

179.

180.

At

U 4 g4, 50 T, 3 B I T AL TG
TGS T rpm &

(A) 1000

(B) 1200

(C) 1800

(D) 1500

UF Y6 UG 50 @Ud 1 T8 3da el
?

(A) 0

(B) @
(C) 10W
(D) 5W

T SEEFY (Sinusoidal) e
141.42sin3140t 5 9 o <9118 STt &l
diees Ft RMS  TH 3 Igf o
__ %

(A) 141.2V, 314 Hz
(B) 200V, 100 Hz
(C) 100V, 100 Hz
(D) 100V, 50 Hz

afe o wfales R,, e X R Y & =
# SIeT S 7, R X 3R Y & e di e
SR, R, Y 3R Z % o9 H SeT 9@l e,
T o2] FAFH o1 & foru 3 i w
foar # wuafa =@ & foau, ST X w
wfedies 2

(A) RRJ(R, +R, +R,)

(B) R,R/(R,+R, +R,)

(C) RRJ/(R, +R, +R,)

(D) (Re+R)/(R+R, +R,)

181.

182.

183.

184.
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faa § fegme 1u afmy w fa=mm =1
diees V, J1d # |

%w;n

(B) 1.25

(C) 1.5 (D) 1.75
$r fa Feardr
(A) forr |
(B) @awd

() fafsm

(D) foreemmm

TSR 1 FIA-HT &3 geh ST arel
Tare ?

(A) 3@

(B) Fera

(C) Tfix

(D) 3o g+t

ﬁmﬂm%azs,b=10;c=++a*b-;, a,
beRcFIWAAFIRE ? |

(A) a=6,b=9,c=54

(B) «@a=5,b=10,c=50, |

(C) a=6,b=10,c=60

(D) a=6,b=9,c=60
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185.

186.

187.

188.

In database, a relation means a
(A) Domain

(B) Key

(C) Tuple

(D) Table

An AM tlransmitter transmits a 80%
modulated signal with a carrier power
of 120 W. Find the total transmitted
power.

(A) 120W
(B) 1855W
(C) 158.4W
(D) 581.4W

Which of the following transducers
convert mechanical energy into electrical
energy ?

(A) Thermistor
(B) Thermoelectric transducer
(C) Linear variable differential transducer

(D) Piezoelectric transducer

is the variation of the frequency
of the, modulated signal from the
frequency of the carrier signal.

(A) Frequency modulation
(B) Frequency demodulation
(C) Frequency deviation

(D) None of the above

00 00

189.

190.

191.

192.

193.

One unit weber is constituted by
lines of force.

(A) 102
(C) 108

(B) 104
(D) 108

If the armature winding in the DC
machine is wave type winding, number
of parallel paths for wave(A) will be

(A) A=P
(B) A=0
(C) A=2
(D) A=P/2

A 220V, dc motor has an armature
resistance of 0.75 Ohm. It is drawing
an armature current of 30 A, driving a
certain load. Calculate the induced emf
in the motor under this condition.

(A) 300V

(B) 197.5V
(C) 24.76 V
(D) 2476V

In the energy meter, constant speed of
rotation of the disc is provided by

(A) Shunt magnet
(B) Series magnet
(C) Braking magnet
(D) None of these

The peak factor of a sinusoidally varying
voltage is

(A) 1.414
(B) 1.11
(C) 0.856
(D) 0.707
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TREY §, U day F 99 2
(A) =ma

(B) i

(C) =@

(D) =

T AM ZigHIeT 120 W Ft ares ifed &
1Y T 80% Ffrfaism wend gafia s
2| Tt gafid vifF wma 1)

(A) 120 W

(B) 185.5W

(C) 158.4 W

(D) 581.4W
frfofad & & FH-G R it
it ot forgga it # wftafia w2 ?
(A) wfifeT

(B) wHiseI{Fsh TegET

(C) e = srawal JHSTH

(D) Hisigeifagen grege

____ 9Tes Hehd il @M ¥ fufufia
Goha &t gy it far g1

(A) gt Afafason

(B) mgfw fentegerm

(C) Imgfa faraem

(D) 3% ° ¥ FIS AL

189.

190.

194

192.

193.
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U TS o &l 1@l ¥ S 2

(A) 102 (B) 104
(C) 108 (D) 108
afe et wefia o TR qREEsl a0 YR

6t arereft 8, a1 70T (A) ¥ FETEL 9 it
T Bt

(A) A=P

(B) A=0

(C) A=2

(D) A=P/2

T 220V I St Are T SR gl
0.75Q 2|t ffvea 9 1 5o & fag
g 30 A FI T R "W T @ R
gf@:ﬁrﬁﬁaﬁmm = ToET
|
(A) 300V
(B) 197.5V
(C) 24.76 V
(D) 247.6V

St et #, avat F o 6 Fe Tl
FII 39Ty T3 STl g

(A) ¥ Y

(B) *aen go

() Tl g

(D) 398 & s T

SR (Sinusoidally) 9 8 giadasfier
dlees 1 ¥y Ui &

(A) 1.414
(B) 1.11
(C) 0.856
(D) 0.707
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A series circuit consists of 4.7 k Ohm,
5.6 k Ohm, 9 k Ohm and 10 k Ohm
resistors, which resistor has the most

voltage across it ?
(A) 4.7k Ohm

(B) 5.6 kOhm

(C) 9kOhm

(D) 10k Ohm

In a parallel circuit, equivalent reéistance
is of all the individual resistances.

(A) Smallest

(B) Same as
(C) Largest

(D) None of these

For star connection, the phase voltage
is times the line voltage.

(A) V3
(B) 1/V3
C) V2
(D) 1/¥2

The losses which vary with load in a
power transformer are

(A) Friction and windage losses
(B) Copper losses
(C) Eddy current losses

(D) Hysteresis losses

198.

189,

200.

is an electromechanical device

which makes and breaks the circuit in
normal operation and disconnects the
circuit under the abnormal condition

when current exceeds a preset value.
(A) Fuse
(B) MCB
(C) Relay

(D) None of these

A 4 pole, 1500 rpm dc generator has
a lap wound érmature having 24 slots
with 10 conductors per slot. If the flux
per pole is 0.04 Wb, the emf generated

in the armature is
(A) 120V
(B) 240V
(C) 480V
(D) 960V

In a pure inductive circuit
(A)
(B)
(C)
(D)

Current leads voltage by 90 degree
Current lags voltage by 90 degree
Voltage lags current by 90 degree

Current and voltage are in phase

with each other
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194.

195.

196.

197.

Ush FGAT IR 4.7 k STEH 5.6 k 3AEH,
9 k 37&H 3T 10 k 37TeA Tl & =1
21 fora wfedierss # watfues dees et 7

(A) 4.7k Ohm
(B) 5.6 k Ohm
(C) 9k Ohm

(D) 10k Ohm

TS THHIGR U9y H, Gged Wialg a4
Fufeas wfoe H

(A) H Tl BraT

(B) & ®HH

(C) ¥ T=d e

(D) T8 | s AL

R e B, e Seds! @ Sl
F___ TR

(A) V3

B) 1/V3

C) 2

(D) 1/42

3 wifaat i ue wife Zras it 3 YR 91y
yfafda aidt 21

(A) =ur TR 91y T wfET

(B) s w4l

(C) TEt ym wiial

(D) fe=ifam wifat

198.

199.

200.
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_ o faga @it g @ S
= afETed § gy F s o
dredt & 3R s uifeats 4 5 foga
T GEieiiE oe § sifYs 8 S g
T T SETE 22l ol |

(A) =S

(B) MCB

(C) f=

(D) ¥ & 1 7

UF 4 Yd, 1500 g fd e 3 10 Feish
afe @Y (slot) 3 T1 24 GT (slots) Sreit
T TGS aRaE IR | 3fe ufa ga
Y418 0.04 Wb 2 | &t 3Imi=R § 394
$TATE B

(A) 120V

(B) 240V

(C) 480V

(D) 960V

T I8 SROT Ry

(A) forega diees & 90 feft o1 el @
(B) ferega dieew & 90 feuft s et 2
(C) diees farga & 90 feuft fi® weft

(D) Torga iR dicest T T % |1Y %
¥ Ted §
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13

14.

Hads

7

18,

19.

. This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are|required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each guestion. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method
O&® 0O

Wrang Method
O@0O0

Correct Method!

Ce00O

Wrong Method

C@®0O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

0 0 OO 0
IMPORTANT INSTRUCTIONS TO CANDIDATES

Iufigan & forg wewagul sgaw

13.

14.

15.

16.

17,

18.

19.

T8 gfeqe § 48 U 2|

few « I WA s1ue T I wuA & 4
SR I S [ FYT I T | IedF g9
T I foret T H T R S A H A I
Q JYET HYUT H Y HL I YR I B F
I MAFR TH A, B, C 1 D #i Fien 71 e
FA-UgR ¥ T Fer (@) Fo 2 | (fRafe
Infigami & fou vma meren ofrs g
el T )

T W % WA A g9 o e e a1
W ford | @ = o 9K wum O Rl X |
Toreifer 7 = Tt wliem it femm o 2

TeE qhw | T 9| e ahe | owd ale
0800|020 0|0@®00|I0000
Il 1 3T I AHYES T =R & 3w
fafEa e =nfzw |

Y% oA I haSl UF B TE IR 8 | A
Tgfed Hiew 3Yiq A, B, C 91 D & TesR ©@H
| Fe (@) F 2 | I 39 foredt wvw % e
T ¥ iU MR @F W (@) & 3
I TG HET TR

I et woa % &=t qen sl amaw § #
FR 2 T ST G F A FE T AW |

Fed 1 & T Faw v w3 § fou W =
A W | T IR W FeE 1 T H

30 YRt o 37 ST I Sifeha TE & ¢ |
I Hae T U A @ E)

Go through instructions given in Page No. 1 (Facing Page)
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